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1. [ Rewmm o[ ofedl o ww Yesm IR
Tfovem : 1x5=5

Choose the correct answer from the following

alternatives in each question :

(a) B FRAFTS G =19 WBAILHTS 2T (A Tt
I oo txR

The component of time series mainly
applicable in case of a fire in a factory is

(i) WA TFf® / secular trend
(i) T4P=F 7= / random movement
(iii) ¥oo 31 / seasonal variation
(iv) &8 539 / cyclical variation
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(2)

(b) ToIRF R 0
Index number is a
() S RIS
measure of relative changes

(i) Rom @R’ Ol 7

special type of an average

(iii) TS AT

percentage relative

(iv) SR SGRTIRH!

All of the above

(c) T IRTS AT RAE R W
Demand for goods having several uses is
called

() BT wildm

elastic demand

(ii) ST wdm

inelastic demand

(i) T4 Rz wigm

less elastic demand

(iv) 7= wfiRfemer ok

perfectly inelastic demand
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(3)

(d) PR FH Fes wfe &

(e)

P9/318

Population growth is mainly concerned
with

() P w1 RIA TS
total number of births

(i) N 1 IR XS
number of male births

(iii) ST T I S ‘
number of female births

(iv) SIRq GoIe TH
None of the above

3aﬁmﬁmw@ﬁzﬁﬁeﬂwaﬁm?

3-6 control limits are based on

() eRel
probability

(i) T Rvaw

"standard deviation

(ifi) 2T 3%
normal distribution

(iv) ST ABIRCIRG!

All of the above
{ Turn Over )
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2. S IR oY T A : 2x5=10

Answer the following questions in brief :

(a) AR vPw R e fan

Define cyclical variation of time series.

(b) TR RAE TS 2 W@ OPIRE FHoR
TomEPTR SRy 40

Mention the components of errors in the
measurement of index number.

(c) ﬁimﬁﬂiq@ammﬁsmw
am ?

In what sense, are specific death rates
better than the crude death rate?

(d X-Pay fas Kw 2
What are the control limits of X-chart?

(e) TR wAE RfoTeFeR ke |

- Define partial elasticity of demand.

3. (@) IECE R TR Sy B R wWr A
QA O’ R Irm F40 | I Ronwr

Sown 2 2+14+2+2=7
- What is time series? What are its .

components? Explain any one of them.

What is the purpose of time series
analysis?
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&1 /Or

(b) TECAR IRT MRS @M RSy ez R
7 & w=eTR R @ ¥ = Rea
a1 9010 2+5=7
What are the different methods of

measuring secular trend in time series?
Describe any two of these methods.

4. (a) RERR uRS PIT 2 Te Ry = e
[ R W7 (RS X B AR
. IF ToME ST ANF A B TR
R 2+1+4=7
) What is Fisher's ideal index? Why.is it
called ideal index? Show that it satisfies
both the time reversal test and factor
reversal test.

%37 /Or

() PoE B2 GO TV PITF TS FECO

TR TN Rfw e Rea sxte
A F91 | 1+6=7

What is an index number? Discuss
briefly the problems that are involved in
the construction of an index number of
prices.
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(6)

S. 3% BRkW FARH P=4-5x2 [/, CGR'E xI B

T IR R RRweee R 37

If the demand functionis P =4 - 5x2; for what
value of x, the elasticity of demand will be
unitary?

6. (a) OIS PR W B2 wonle PR TR, TR

TR B AT N WA S Byl SURAT
HHRS TS A W% BY WA SOl 9N W

fadfa 37 : 2+2+3=7

What is crude death rate? Is crude death
rate an accurate measure of mortality?
On the basis of the following data,

calculate crude death rates for localities
Aand B:

S FifS A (Locality A) | T4 B (Locality B

PR | T | weRw | T
Age group
g Population| Death | Population| Death

10973
(Under 10) 20000 600 12000 372

10-20 12000 240 30000 660
20-40 50000 1250 | 62000 1612

40-60 | 30000 | 1050 | 15000 | s25

603 9SS
| 1

(Above 60)| 10000 | 500 | 3000 | 180

122000 | 3640 | 122000 | 3349

( Continued )
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5eJqT /Or

(b} oA TR TR $°RS o6 Gl B | o
1 TR T ANATS TR Y4 AR F4:
3+4=7
Write a note on standardized death rate.
Estimate the standardized death rates
for the following two countries :

¥4 33 4fS 1000
1 1(3%) | Death rate per 1000| TS PRI (1)
A(?: yean) | @1 | @ | population (i:elgld!l
: Country I| Country I
04 200 50 100
5-14 10 05 200
15-24 14 10 190
25-34 2:0 10 180
35-44 33 2:0 120
45-54 7-0 50 100
55-64 150 12:0 . 70
65-74 40-0 350 . 30
(7755;': :::L 1200 | 1100 10

7. (a) X wiF R fog B vz I 30 1 °9e B

soen PR ¥ 3+3+1=7
Explain in detail X and R charts. What
purpose do they serve?
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(b) Y o o

(8)
w1 /Or

Write short notes on : _
i) Teere SF Teomr Fom
Consumer’s and producer’s risk
(i) R Pame w+ sRarg [

Aésignable and non-assignable
causes of variation

( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

1. o RIPTR A o o ww Tewd IR

ferea :

Choose the correct answer from the following
alternatives in each question :

(@) IFEAR @D MR 7S oA’ gy

P9/318

wHG ?

To which component of the time series,
the term ‘recession’ is attached?

fi) AT eRTS / Secular trend

(i) 49 *RIET /- Seasonal variation
(iii) 5& *RIET / Cyclical variation
(iv) F *RIET / Random variation

( Continued )
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() Tomm A W Pm R I ool
fBRwR ARCE SPIRF BB T

Thg condition for the factor reversal test
to be satisfied with usual notations is

(i) Po1 %xQo1 =Vo1

(i) Fo) X Qo1
Vo1

-1=0

Py X Qo1
()__01__ 1
Vo1

(iv) ST SHIRTIRBI
All of the above -

) R IT A R o I =07
" Paasche’s index number was invented in
which year?

i) 1871
. (i) 1874
(iii) 1901
(iv) 1918

(d) UIRFR T RSTeReR e (X’

Price elasticity of demand is defined as
Rt SRR RLiCE
g~

proportionate change in demand
proportionate change in price
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proportionate change in demand
proportionate change in supply

i RIS
T RS

change in demand
change in price

HiRRvA ~fRTd
QTR “ifRTS

chagge in demand
change in supply

(i)

(iv)

(o) GPRIA AfSMFR oRTo WMot LR

" The measure of replacement potential of
the population is

fi) 5 T |
total fertility rate
(i) AR T{qe T
general fertility rate
(i) 1 o4& |
gross reproduction rate
(iv) oFS IHW |

niet reproduction rate
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(N SReHS IR EH w1 fT o/ R [W
L]
The child-bearing age of female in India
is
() 1349 years /| I
(ti} 15-49 years [ I
(itij 15-24 years [ T
(iv) 2029 years [ I

g C-B Tw fFgr M
UCL of C-chart is -
) C
@ C+JC
(i) T+24C
(iv) T +3JC
(h) R &1 R n130F GRAI
In statistical quality control, p £3c are
called
(i) Roms fots Kim
specification limits
(ii) 2R gger K
natural tolerance limits
(iii) Feamwet M
confidence limits
(iv) PRI S

rejection limits
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2. SH PRIVA 7 T far

(12 )

Answer the following questions in brief :

(a)
(b)

(c)

(d)

(o)

(9)

"

P9/318

IECNS Yol ARTeR A i |

Define seasonal variation in a time
series.

T RERR S0 R 2

What is the purpose of time series
analysis?

RRA fidfos FRT B B Rem o om
AT =AM 2

What points would you take into account
in choosing the base year?

W ST T WA 2

What do you understand by ‘equilibrium’
price?

JfAe TPR T I 0

Describe standardized death rate.

i SR g, 3 WY I 0

Describe the meaning of g, in the life
table.

‘oA TR “RTE W R gm0

What do you mean by acceptance
sampling plan’?

AR w1 FagR oRG IERe @
forar

Mention four uses of statistical quality
control.

{ Continued )
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3. (a) IFCAT RS TR 27 IFECAR 2R
HFER TR RS S F9 1 3+8=11
What is the trend component of a time 4
series? Discuss the various methods to
achieve the trend estimation of a time
series.

oq /Or

(b) ICCAMS ITEe ORI R
IFCAT  AgEHe ORey FHRR Rfw
oGREr R R o ol e e

- 201237 Rl 2014¢a STHNE TeeR
FHIFEA (2008 = 100) frar Czem 1 BofS
TS RS FPHAS SPFFEAR (Refg =1

Define seasonal variation in a time
series. What are the different methods

for determining seasonal variation in a
time series? The following table gives the
index number of industrial production
(2008 = 100) of UK from 2012 to 2014.
Find the seasonal indices by the ratio-to
trend method : 2+2+7=11

spdfer | avw | REw | wlém | ouv

Quarter | First | Second| Third | Fourth
2012 116 117 109 118
2013 ‘115 119 114 127
2014 128 130 121 134
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4. (o) ORI RS | CSPIRTS RARST T
W QAR W1 G F | PIT M7 Beq
CZRAT ARG 6T 3471 2+2+7=11
Define an index number. ‘“Index
numbers = are called economic
barometers.” Explain. Explain the
problems arise in the construction of
index numbers. :

&% /Or

() PF A FdT SR grETTeR Rea
M 41 | RO T [T ! B W
T B A PIT @R W IRIA
ST @6 5Y BT B 2+1+3+5=11
Describe the importance of weights in
the construction of index number. Write
down the formula of Fisher’s price index
number. Why is it considered as an ideal

index number? Write a short note on
deflation index number.

5. (a) Wi ¥ WA 2 vRwR nfde weReR
@Y T GO ATHIR MR SR WE TR
S T eR ) @ geR v v
RRwee Frte fds sRer? 1+2+5=8
What is demand function? State the
mathematical demand functions. Given

the demand for a commodity and its

price. How will you &alculate elasticity of _
demand with respect to price?
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G[7 /Or

(b) e @ RfEeeR e T 4 1 3 o
¥ q=25-4p+p> W, TS g="IA

RYR ARTI, p=ANTR W, @ WRAA

T Ridmeare fdy 331, @A () p=8 =

(i) p=5"|I 4+4=8
lain the concept of price elasticity of

demand. If the demand function is

g=25 —4p+p2, where @ = quantity

demanded of the commodity, p = price of

the commodity, then find out the

elasticity of demand at prices (i} p=8

and (i) p=5.

6. (a) TAFITAR ASFH BE AAF ARSI 361 iy |
an mte @@ R R mmr &
RERe @b wea wF R i,
el 96 | @ TRl RiERT senits
T 2R Hfooare JegR ¥R /1 =\, e
39| 9+4=13
Describe the direct and indirect
measures of standardization. Can the
two methods lead to the same result?
Under what conditions, can these
methods lead to the same result?
Discuss. Discuss the mortality situations
where crude death rate may be well-

used.
&4t /Or
(b) CBR, GFR, ASFR, GRR W& NRR ¥ 7ite
fam | TFR 3 552 f o TR oo Srme
| A TP TR @R e
B’ @R AorF FRI AR, [ ]9 |
5+3+5=13
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. (16 )

Define CBR, GFR, ASFR, GRR and NRR.
Define TFR and state its utility. Explain
how far reproduction rates may be
looked upon as indices of population
growth. Co

7. () Seofre AR @4 fEre Rwga Bat &@-
{0 =W I 7 8 g Ba e o g
o ez B B2 X wie R-Pa =
I ? FEEA RS ¥ g @, .
1 6+7=13
How does a control chart help to control
the quality of a manufactured product?
What are the differences between control
charts for variable and attributes? What
are X-chart and R-chart? Under what
situations are they used? Explain.

5941 /Or

() @R Pz 5d e B @2 P ww ¢ B
i =S 3T M1 P wiF C Bae e
e wEe ovflv RT o @ERRE
PRAAT 22T FRA? 2+6+5=13
What do you mean by control charts for
attributes? Describe the construction of
P and C-charts. State what kind of steps

you would take if the P-chart and C-chart
exhibit out of control.

* % K
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